ok AR - . AR A 2546[8] SIBEHT AR Bt A% [19014013]
#pg i Rk B [12110]
2019/08/17 ~ 2019/08/18

=X 5B F
H A e 147 27 37 Afir 507 6017 The
S A 18H 100m Frig HEQ) LT3 AR RIR(1) 11.18|#kEF ¥R A (2) 11.24/ N8 Rk (2) 11.27| 38 H52©2) 11.39|R)11 #(2) 11.39|R[ EER(2) 11.48|4F E =3-(1) 11.58
JA:+1.4 HIIEE LB O|FIE& LR = O|BIFEIALE = O|MERE & OR=E 1 B v 1 i HAERE =
A 17H 200m R E(2) 22.83|#EF YA A(2) 23. 21|k KHE(2) 23.36( H 5 #E2F(©2) 23.44|95%  H22(2) 23. 77 A 24.06 /NP <R EE R (1) 24.25F £ =2R(1) 24.52
Ji:-0.5 Il B O | FNFE AR = HIEE AL e HASHE = RS BT HIEE AL e HASHE =
SH18 00m BH EXREQ) 51.66|imuE FEHE(2) 52.37|6N KI(2) 52.70|FF 1L THR5(2) 52. 73|k EH(2) 54.57|H A Z=HE(1) 55.88| A BHME(L) 56.43
I T P 1 O|FIFK LR HI I B BN EE LB R 5 HIERE = HIEE B =
SH1TH 200m Hm EROQ) 2:03. 12| EifE BEAKQ) 2:03. 70|44 1L THHE(2) 2:06.05|AH #2(1) 2:06.15|7A0E  FEHE(2) 2:06.29|FHkf EEH(2) 2:12.08| 1L Kififi(1) 2:14.96|=08 #5 A (1) 2:23.62
I T OB = O|HIEEALES &= SIS = B T RE & 2 IS g 1)
SH18H L5000 G BER2) 4:25.22°FH RE1) 4:30.32|1L1°F K1) 4:32.27 |58 FniE(2) 4:35.32|4:1% W) 4:40.34|FR)1 IR (2) 4:43.38| AR H HEE(1) 4:45. 391/ HHTRQ) 4:47.65
B i BT il B = B B A B HI B = B AR
SH17E “000m K ®KHLQ2) 17:57.39|4:1% mEQ0) 18:43.17|Jh— #EE() 19:01.31 7)1 FEA(1) 19:02.80(H:AF MEA(1) 19:22.94 |1/ 1E7E(1) 19:28.85| % HRAE(1) 20:46.76|% JE(1) 21:38.14
I TP B I T = BB = R AL R HI K =
gf18p| 110mH(1.067m) W BEEL(2) 16.91[K)11  #(2) 17.05| 1L wf A1) 18.40[/M2 #aA(1) 20.66 A1 BREQ) 21.10
Ja:-2.1 BIEE TR e Ol#IE T35 O Ed s FIEE ALk I e
85170 200ml] i BRIL(2) 56.21|N KIEH(2) 56.25|HE HKTR(2) 59.73|HiE  KIHE(2) 1:02.50| A Z2E5(2) 1:02.79|/M%  $HAR0) 1:06.57|EmE A1) 1:09.38
I L e 1 O|FIF& A = OEA & O | % = HINEE LB i BIEE LB HI I HE
SH18H 2000mSC HHOKEQ) 11:05.93| K1 FKFE(2) 11:06.05| /)1 Wi 2) 11:30.08EH KE(1) 11:44.30|5%  #:5E(Q2) 11:48.91 (P58 HEE(D) 12:01.57
1 SN HE AL = ST = A1) Y 1 HIEE T35
8$H18H £000mW = fEQ) 26:00.05| K HEE©2) 29:17.83| &)/ Fak(1) 32:01.83|FnH EEE5(1) 35:26.98
HI B = O|FIF& LR BB A2 v RS
B A = 44.06 | R AEAE = 44.23 (ST rE = 44.69 | BIE 44,94 | Bl & B 45.81|1R =5 47.11 (FEHEE R 47 .33 ST 58.44
KH ) Olff £ =2F1) Ofmng  FHekE2) 11 TER(2) AR SRR TrHE REAQ2) HH S25(2) PG FHZE(D)
SH1TH 4X100mR B UR(2) /NP FHER(2) w1 BEFE(2) R $HFEQ) RN E(2) B Hax2) [T 6) e B R
NS N0 W SR (1) L nsi(2) ROPEE(2) A (D) HR EHL(2) N2 PEYNQY) Felgp safe(1)
e g R (2) H R B EROQ) B[R EEEHIE(2) HAT &) RN SN T g ZE(l) Ve BE—(1)
ST e 3:27.61| 8L B 3:35.82| 8ISz = 3:37. 48| AEfE & 3:39.25 |41 ¥ BA ik = 3:48.86 |t = /& 3:52.76 | = EL 5 3:54.64|8I% T 25 4:02.47
A% B O|AR Z7E((©2) KH ) H\ 728 AR SRR P& HE(2) HA S25(2) Ve R iEA(D)
8H18H 4X400mR TS HERE(2) L 1555(2) BN KE2) B =2k1) S NGV HAT EHL(2) ThE fE(D) b 110
T BEH(2) EE FFk©) B U AR(2) /NP FER(2) I HE(2) YrE FEA2) /NEFHER (1) B[R HE (1)
B EKQ) AN ERER(2) BT FnE(2) Hx R A (D) i e v AL Verk mZE()
8 A 17H B HIR $HEQ) Im69|HE BLFEQ2) Im69| T JR(1) 1m66 (AR F(2) Im60|/IMi FETR(2) Im55|HE T BHFH(1) Imb5 | H JEA(2) 1m40| 1A A1) 1m25
HI T B = W SRR = JEEFIE S 2l A1 Y 1 HEE AL = BT B =
SA17H — H O 3R (2) 3mOO| HiR #HE(1) 2m10
SIS P 1) ol il
8H 180 - /NP FER(2) 6m41(-0.1) |k LER(2)  6ml19(+1.5)| - HET (1) 6m00(+1.6)[FiA FE(1)  5mI7(-0.D)| L #26(2) 5mT77(+1.5)|7  FEZE(1) 5m72(-1.3) [/ NEFEEE (1) 5m38(-1.0)|/K E #&Z=(1) 5m30(+1.6)
HAERE & O|FIF& AL = O MELE & IS D ) I TP JE S FIE = SIS LB P AR
8 H17H — vk R SFEQ) 12m80(-1.7)|1ILEE M2hQ2) 12m79-0.8)[ A W A1) 12m20(-2.2)[/Kk £ EZ2(1)  11m79(0.0)|/NE MKEL(2)  11m25(-1.0)[/F M FEAZ(2)  11ml10(-1.6)[M B BREH2)  10m61(-2.8)|EFMH A4L(2) 10m28(-1.2)
B HI i B O|SIFE T i O|R1ERE SIEE AL RS = HIEE AL = RS ST A HASHE =
SH17H L e =50 ImA8[EH A fEEA(2) ImO7 [ KESF [EH(1) 8m48|ZEHE fFK(2) Tm54[PE BA(1) 4m36
(6.000kg) N e IS 15 B JE A BB = AR
SH18H P R $HF22) 27Tm99| EE  RA(2) 25m60| % JZE(1) 26mb0|1EfE 2 HE (1) 23m71|HH 2=2%(2) 23m23| B SR(D) 18m94| 1L FEE Ay H(2) 17m12(HERF [EHL(1) 15m93
(1.750kg) Y i W P B i T HI ST B v P JE S FIE
eiisn| v W EEAE) 42m76(H T £24(2) 32m44 | () 22m69|EiE EAQ) 19m93[E A (1) 19m54| 1L A A HL(2) 17m00|;E H B =H(2) 16m19
(6.000ke) I HE O 1EHE & MR IR TR HEE IR TS
SA17H P Fa[ER Fn(2) 48m21|BF 0 55 (2) 47Tm30| 7 A1) 46m97|FIEE  2EER(2) 44m19|ERR  F(Q2) 39m60|Ff 1L A1) 39mO5| @t FH() 35m20 k)11 FR(2) 33m82
HI T B = O E & O E & OB O =R A1 M 1 I T = FIEE T35




ok AR - . AR A 2546[8] SIBEHT AR Bt A% [19014013]
#pg i Rk B [12110]
2019/08/17 ~ 2019/08/18

BREF
H A e 1iF 27 307 afy 507 6017
S A 18H 100m R HiEQ2) 1311 HE #kE©) 13.16| A4 E(1) 13.58 )14+ JLFE() 13.77/N 8 Z(1) 14.00[#& 1+ &4&©2) 14.23| =8 2FEK(Q)
JA:+1.2 RE O|FIFE AL = OB ALES & HHAE A HAERE S HAERE = B AL &
8 H17H 200m mH 5R2) 26.22|HH k) 26.51| 1A Th % FE(2) 27.54(1LH HEE©2) 27.719| K58 A1) 28.77
J:-1.3 I TP O|#NEEALEG = O| S ALES ST 42 v HAEHE
SH18 100m =H BEQ) 1:00.26| A H ZHk(©2) 1:01. 12| 1 #ikg(©2) 1:04.10| &4 A& 1:04.65|7& 7 H3*¥Q1) 1:08.24
I T P 1 O|FIE& LR & O|#IF&ALES & HAEAE 5 B T 1
$H17H 800m ftE DUuN(D) 2:28.81 A T % 4E(2) 2:29.76]/N11 BREE(D) 2:31.82  ##(2) 0:34.20|854K A(2) 938.921k 7 H&0D) 13,67 5% R0
HIEEE O|FIEEALES = O|BIEE AR = RE & B AL B T I TP BT B =
85 18H 15000 i Sk©) 5:24.25)5  MHA(2) 5:32.31 /M1 BkfEQD) 5:37.76[Fn  H:Z3(2) 5:40.72(f@1% Y1) 5:47.83|fa 0 HE(©2) 5:50.47[EiE AL
B R HI I B BT HELA A B A B HI AL e
SH1TH 2000m R BLEEQ2) 11:47.52| %5/ =L(2) 11:57.77|50 HE©) 13:49.83
I TP B FIEE AL e
Sii1gn| 100mH(O.838m) N 20) 16.53| RAMRFEE(1) 16.76|fE 1+ m4&(2) 17.37|85AK  JFRA<(2) 17.48|3THE  #<(2) 17.84|FH 2E(1) 18.31])11lk% %%(2)
J2:+1.9 HAEAE & O|FNEE LR = O BAEAE & @] FillFEld B T 1) BT I D
8H17H 200ml] &Y% 2EQ) 1:06.91| &R Fik52) 1:08.52| KH #3(2) 1:10. 14| RASRFE ) 1:15.39
HAIEE S O|FIE& LR = O|HAELE & O|#IE& s e
SH18H S kR BLEQ) 31:33.42|8 0 FAKQ2) 34:19.80| =ikl ALEE(2) 36:17.49
I TP v OFEA & I T
HAEAE & 51.47|81EEAL B = 51.55| BT rE & 51.63 |Gl = 54.60 |81 BRI = 54.94
KH ZH(2) O Fik&(©2) OB Ix50(2) O| =iz A1) JIIRE SEER(2)
8HITH 4X100mR Ei RIE0 HHE k) ik #<(2) I HRE ) /N SERL(2)
B ZHE©) AR ZR) HH O AEQ) o HBR&RQ) I EAK(2)
£ DU(1) YA T & 1E(2) = H Q) NI BREE(D) Ve 252
HAEAE & 4:10.86|BIEE AL B ) 4:14.61 |8 rE = 4:18.99
f3E WpU(1) O Fik&(©2) OB Ix50(2) O
8H 18H 4X400mR KH Z3H2) HHE k) G ALE(2)
FEi K& HARLFK(Q) KE HIFEQ)
B 2EEQ) YA T < 1E(2) = H BERQ)
85178 - KA () Im40|FiR  HHRQ) Im20| F Al 1ml15
HAEAE S O|HiEHE A
. W EA(2) 2m90
8A17TH e . o
8A17H iRk KH ZFQ)  5m00GHL.D|/IML EHL©2)  4m81(+0.6)[/KEF HKIE(R)  4m68(+0.3)|FTEIL5/2(2)  4m52(+0.2)[JI[F SCEA(2)  4m41(+1.6)|FLALFK(2) 4m36(+0.1)|EF 2 e 5L 4m12(+0.2) [ H A1) 3m79(+1.3)
HAEAE & O | FII#& B e JE R BIEE I P v HI I DHE BN AL BS = ERE
SA 18K = B IE22:2)  10m85(+1.5)[/Mil ZEAL(2)  10m02(+1.4)[/VFk 2F32(2)  Im74(+0.9)[FEH 2KZE(1)  9m01(+1.7)
B I TP O|FII#& Bk i SR & BT P
A 178 L & FREH2) 9Im30|/NG k(D) 8m49|FiR FEBR(2) 6m83 |k £HE(1) 2m44
(4.000kg) JE R O|RAELE & O iEH = ST v
SH18 P i AHRQ) 27Tm58| 41 WER(2) 24m07|8Rk e (D) 22m80| E AL 9°<(2) 20m48| K% EE(2) 17m41
(1.000kg) I P O|2E=MEm W BB = W
8 H 18 H roe—t |HE O FERQ) 34ml6|1EE BEQ) 29m49| Bl FLEE(2) 26m73|fE (1) 21m28
(4.000kg) I T O | §)11H% B e OB & O
SH17H oy R BEQ2) 35m33| g FLEE(2) 3Imll|fcik BER(2) 27Tm70| A A1) 20mb57|EifE  FLER) 1Tm76[ =i FHFA(Q2) 14m68
R OR=E & O|EZ A A HRE A B A = B A B i

AL O EEan i



